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Cobalt System

Performing the Experiment and Results

1. Cobalt system II. Ammonmm system IIT. Iron thiocyanate system

IV. Chromate svstem V. Nitrogen dioxide system VI. Copper sulfate svstem




CoCl,” {blue} + 6 H,0 == Co(H,0), * {red} + 4 CI + heat

Heat

EXOthermic



Notice that BEFORE the reaction
proceeds, the solution is BLUE.

-2 +2 -
CoCl,? {blue))+ 6 H,0 == Co(H,0), "2 {red} + 4 CI + heat
L

Cobalt system




heat

Cobalt system



EXO

CoCl,? {blue}




relieve the stress
toward the reactants




-2 +2 -
CoCl,™ {blue} + 6 H,O == Co(H,0),"" {red} + 4 CI + heat

Cobalt system



ENDO

-2 +2 - o
CoCl,™ {blue} + 6 H,O == Co(H,0),"" {red} + 4 CI + Lca

Cobalt system



toward the products replace heat




Cobalt system



water

Co(H,0),"* {red} + 4 CI + heat

)
CoCl,? {blue} Co(H,0), " {red}




more product remove
the excess water




Cobalt system



Cl- more Cl- ions

-2 +2
CoCl,™ {blue} + 6 H,O == Co(H,0), "~ {red}

Cobalt system




towards the reactants
excess Cl- 1ons




22 o +2 _
CoCl,™ {blue} + 6 H,O == Co(H,0),"" {red} + 4 CI + heat

Cobalt system
NOTES:

- Silver 1ons react with chlonde 1ons to form the msoluble compound silver chlonde.




NOTES:

- Silver 1ons react with chlonide ions to form the msoluble compound sibver chlonde.

CoCl,? {blue} + 6 HyO == Co(H,0), " {red} + < Ti” + heat

Cl- 1ons

Cl- 1ons



Cl- 1ons

Cl- 1ons




Iron Thicyanate system

Performing the Experiment and Results

1. Cobalt system II. Ammonmm system IIT. Iron thiocyanate system

IV. Chromate svstem V. Nitrogen dioxide system VI. Copper sulfate svstem




Fe™ {pale yellow} + SCN™ == FeSCN "2 {red} + heat

Heat

EXOthermic



Notice that the product is RED In
color as the reaction proceeds.

Fe™3 {pale yellow} + SCN =<=(FeSCN'2 {red} ¥ heat

Iron Thiocyanate system




Fe™3 {pale yellow} + SCN” == FeSCN 2 {red}

Iron Thiocyanate system




EXO

toward the reactants

Fe™ {pale yellow} + SCN" == FeSCN "2 {red} + heat

Fe®d {pale vellow}




FeSCN'? {red}

Iron Thiocyanate system




Fe™ {pale yellow} + SCN™ == FeSCN'? {red} + heat

KSCN

SCN-



toward the products

FeSCN'2 {red}



FeSCN'? {red}

Iron Thiocyanate system




Fe™ {pale yellow} + SCN” == FeSCN'? {red} + heat

Fe(NO,),
Iron (Fe*3) cations form



toward the products

FeSCN'2 {red}



FeSCN'? {red}

Iron Thiocyanate system




T | ipaic yciiun + SCN” == FeSCN'2 {red} + heat

Na,(HPO,)
HPO, bonds Iron
(Fe*3) cations (Fe*3) cations



toward the reactants

Fe™ {pale yellow} + SCN" == FeSCN "2 {red} + heat

Fe™ {pale vellow}







Assume a reaction is taking place
In the phase

What would be the effect on
equilibrium position of increasing the

Inside the container?



Assume a reaction Is takir
INn the

« What would be the effect on equilibri
inside the container?

Pressure 1 affect the gases
unequal numbe
than product

00N on the left side
es to the right ... and



Define © ”In terms of
molecules In a container

 How does pressure affect a ?

 How does pressure affect a ?

 How does pressure affect a ?
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